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Dependent variable:

SURVIVAL1=Did the organization survive as a significant rival by the end of the conflict?

1=yes

0=no, 

settlements or ongoing conflicts dropped
SURVIVAL2= Did the organization survive as a significant rival by the end of the conflict?


1=yes, settlement or ongoing conflict


0=no

Independent variables inspired from lead hypothesis:

STRUCTURE=How is the organization structured?

1=Centralized org

2=Decentralized org, with or without board

3=patronage based

4=fragmented groups

HAVEN=Does the organization control a portion of the contested territory?

1=yes

0=no

FIT=Does structure make a good fit with the availability of a safe haven?

1=yes (centralization with haven or non-centralization without haven)

0=No (centralization without haven or non-centralization with haven, and fragmentation)
Other independent and control variables:

AID=what is the level of outside aid given to the organization?


3=2 or more state backers, considerable support

2=Support from a single state actor

1=Support from non state actors like diasporas, transnational militants or other militant organizations

0=No outside support
INSURGENT=Is it an insurgent organization?


1=yes


0=no

INCUMB=Is it the incumbent organization?


1=yes


0=no

INCWIN=Did the incumbent win?

4=not applicable

3=Settlement

2=Ongoing

1=yes


0=no

TOPO=Is the topography where the organization operates favorable for insurgency?


1=mountains, swamps or jungles

0=rural, desert or urban terrain

PERCTOPO=percentage of contiguous territory occupied by belligerents that is mountainous (from Laitin & Fearon Dataset). 

Notes: All of Algeria (but not France) is considered in the Algerian War of Independence but all of Ethiopia is considered in the case of the Eritrean War of independence

LOGPERCTOPO=Log of PERCTOPO

RESOURCES=Does the organization benefit from substantial extractable natural resources?


1=yes

0=no

MENA=Is the conflict in the Middle East or North Africa?


1=yes


0=no

AMER=Is the conflict in the Americas?


1=yes


0=no

ENTRY=Date of the organization’s entry into conflict.

EDIVERSITY=Index of ethnic diversity for each country. (From State failure project, Culheth)
RDIVERSITY=Index of religious diversity in each country. (From State failure project, Culhrel)
Both EDIVERSITY and RDIVERSITY are from the State Failure Project’s dataset.  They are compiled once a decade for each country between 1960 and 1990.  I include the value closest in date to the date of the conflict’s conclusion.  Values for 1950 and 2000, when needed, are extracted linearly from the available data.

URBAN=Fraction of the population that is urban. (From State failure project: unuurbpc)
MOBPOTENT=What fraction of the population in the contested territory could not possibly be sympathetic to the organization’s agenda? 
XBORDER=Does the organization have bases across the border at any one time during the conflict?

Occupying powers that share a border with territories they are trying to control are considered to have cross-border bases.
LENGTH=How long was the conflict?

AGE=How long has the organization been engaged in conflict by the end of the conflict? 

DENSITY=People/km2 in the country. (From State failure project: wdipopd)
POPSIZE=Population of the entire country (not only contested area) in millions by the last year of the conflict.  From Fearon and Laitin
SIZE1=Size of the entire country (square km, thousands) CIA World Factbook.
SIZE2=Size of the contested area (square km, thousands). same as AREA1 if insurgents do not want to secede from connected territory.
WEALTH=Real GDP per capita (chain index), in dollars

From State failure project: pwtrgdpc.  Missing values from other sources.  Real gross domestic product per capita in constant dollars (chain index) (expressed in international prices, base 1985.)the chain index is obtained by computing the growth rate of RGDP between t-1 and t, using the current price component shares in t-1.

LOGWEALTH=Log of Wealth

RENTIER=Measures whether oil exports account for more than one third of GDP at any point during the conflict.

1=yes


0=no


Source: Fearon & Laitin
COLDWAR=Does the conflict end during the cold war (after 1953 and before the end of 1989)


1=yes


0=no

AIM=Does the organization aim to take over all or a portion of a contiguous territory not separated by an international border that rivals control?

1=All


0=part


0.5=not clear

DEATH=Casualties by the end of this phase and previous connected phases of conflict, in thousands.


Data from Doyle & Sambanis and COW supplemented with other sources

LOGDEATH=Log of DEATH

Variables used for robust clustering:

CONFLICTCLUSTER=Distinct numbers given to each conflict episode

COUNTRYCLUSTER=Distinct numbers given to each country

